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= 23,104,030
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= 1,870,669
Al 4,117,725
=AHA=XNSH 29,548,656 20,167,845 9,380,811
= 23,104,030
J| 500,000
< 1,870,669
Al 4,073,957
FHATX A 26,682,200 18,084,602 8,597,598
= 23,096,430
< 1,796,389
Al 1,789,381
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= 23,096,430
< 1,796,389
Al 769,881
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= 21,746,430
< 1,691,389
Al 724,881
01 MI2ZE +06l= 24,162,700 16,076,102 8,086,598
OMASE FAHASWH(LXU=A) 24,162,700
= 21,746,430
< 1,691,389
Al 724,881
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= 1,350,000
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FHN=EXds 29 1,500 1,500 0
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02 BI2SHUSA=2ERAEAIS Y 600,000 600,000 0
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501 X3 400,000 400,000 0
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J| 500,000
Al 500,000
101 Q21| 450,000 250,000 200,000
J| 225,000
Al 225,000
04 JIZtHIZ22XNSE S 450,000 250,000 200,000
OMASHE T&FH HWES 450,000
Jl 225,000
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Al 275,000
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2N
X ZH -
L= B

el

F=H= X
F=AN=XNSH
FAHE F=HEBMA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 275,000
HTE Al FE 23 1,000,000 700,000 300,000
401 AlEHIZ 201 Y| 1,000,000 700,000 300,000
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01 AP 22| d| 5,000 5,000 0
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= 72,000
Al 168,000
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Al 5,320
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= 7,600
= 2,280
Al 5,320
HIE AEIERA £ HHAHESE 4 150,000 0 150,000
401 AlEHIZL £ 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OBIZAEI AN & HHHESE 49 150,000
F=HOE AMHIAXE 65,000 145,000 A 80,000
AAAMOIIE dMII=2 A 60,000 140,000 A 80,000
301 et A= 60,000 140,000 A 80,000
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101 @121l 44,796 138,983 N94,187
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@22 Hl L HA 3,000,000& x4 4 &I E 12,000
@ X2 ABHH| 200,000& x12& *4 4 Al & 9,600
03 At L 2,000 2,000 0
OFHLBUE S (A M) 2,000
202 04 b] 6,000 6,000 0
01 2LHOHI 6,000 6,000 0
OolIldtA At 6,000
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